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Multiple choice questions:
SUBJECT: IT

1. Which of the following is not one of the factors affecting self confidence?
a) Friends and Family

b) Work Environment
c) Health
d) Politics

2. Which of the following is not among the signs of low self confidence?
a) Sensitivity to criticism
b) Social withdrawal
c) Arrogance
d) Excessive preoccupation with personal problems

3. Which of the following is not among the things to be done to build up your self
confidence?
a)Help someone else
b) Care for yourself.
c) Visualize yourself as you want to be
d) Not doing anything

4. Which of the following are not behaviors of self confident person?
a) Relaxed attitude
b) Maintains constant eye contact
c) Slow speech with a modulating tone
d) Always interrupting

5. Which needs are satisfied by holding positive illusions about the self?
a) Self-verification
b) Self-improvement
c) Self-enhancement
d) Accuracy



SUBJECT: ENGLISH

. Very people fly because of terrorist activities.

a) Little
b) Much
c) Many
d) Few

.| didn’'t have trouble getting the passports. | only had a problem with
my photo because it was an old one.

a) Any

b) Much

c) No

d) Several

. If you have questions, I'm ready to answer.
a) Little

b) Any

c) Much

d) Plenty

. There is water left, so drink only if you must.

a) Some
b) Little
c) Few
d) Much

coat will do. It doesn’t need to be a raincoat.

a) Little
b) No

c) Any
d) d) Few



SUBJECT: MATHEMATICS

1. If p(x) = x#-3x2+2x+5 is divided by (x-1), then find the remainder
(@) 0
(b) -1
(c)2
(d)5
2. If x= 2 and x=0 are roots of the polynomial f(x)= 2x3-5x2+ax+b, then values of a and b
are
(a) a=2 and b=0
(b) a=0 and b=2
(c) a=1 and b=8
(d) a=0 and b=0
3. If f(x)=x3- ax2 + 6x-a is divided by g(x)= x-a, then a is equal to:
(a) ba
(b) 0
(c)1
(d)-1
4. Factorise: x?-5x+6
(@) (x-2)(x-3)
(b) (x-3)(x+2)
() (x+3)(x+2)
(d) (x+2)(x-3)

5. Using suitable identity the product of (x-3) (x-5)
(a) x2-8x+15
(b) x2+8x+15
(c) x2+2x+15
(d) x2-2x+15



SUBJECT: PHYSICS

1. 72 km/hr is same as
(@) 72 m/s
(b) 7.2 m/s
(c) 200 m/s
(d) 20 m/s
2. Which of the following distance-time graphs shows a truck moving with speed which

is not constant?

3. The time interval between two consecutive sunrises is known as a
(a) Month
(b) Year
(c) Day

(d) Interval

4. Which of the following is not correct?
(a)The basic unit of time is second.
(b)Distances between two cities are measured in kilometres.
(c) The time period of a given pendulum is not constant.
(d) A nanosecond is one billionth of a second.
5. The odometer of a car reads 57321.0 km when the clock shows the time 08:30 AM.

What is the distance moved by the car, if at 08:50 AM, the odometer reading has
changed to 57336.0 km?
(a)15km

(b) 25km
(c) 20km
(d)10km
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SUBJECT: CHEMISTRY

. Lipstick ,nail polish, and shampoo are examples of:
(a) Sol

(b) Foam

(c) Emulsion

(d) Gel

. Starch solution, silver solution, and ferric oxide are examples of:
(a) Sol

(b) Gel

(c) Foam

(d) Emulsion

. Jelly, cheese, butter, and curd are examples of:
(a) Foam

(b) Gel

(c) Sol

(d) Emulsion

. Soap, leather, and lemonade froth are examples of:
(a) Foam

(b) Gel

(c) Sol

(d) Emulsion

. Coloured gem stones, milky glass, and rock salts are examples of:
(a) Solid sol

(b) Gel

(c) Foam

(d) emulsion



SUBJECT: BIOLOGY

1. The tissue gives mechanical support to young dicot stem
a) Sclerenchtma
b) Chlorenchyma
c) Collenchyma
d) Parenchyma

2. The growth in plants is
a) Caused by each and every cell of body
b) Uniform
c) Caused by nondividing regions
d) Limited to certain regions

3. Lumen of the cell is wide in
a) Sclerenchyma
b) Parenchyma
c) Collenchyma
d) Fibres

4. Companion cell is found in
a) Sclereid
b) Parenchyma
c) Xylem
d) Phloem

5. Role of Xylem parenchyma
a) Stores food
b) Helps in lateral conduction of water
c¢) Helps in buoyancy
d) Both (a) and (b)



SUBJECT: ECONOMICS

. Who is a person who puts together land, labour and capital?
a) Moneylender

b) Entrepreneur

c) Zamindar

d) Manager

. Which of the following is a modern farming method?
a) Multiple Cropping

b) Use of HYV seeds

c) Use of chemical fertilisers

d) Both (b) and (c)

. The SCs (dalits) in the village comprise about of the population and
are landless labour.

a) one -third

b) two-third

c) three-fourth

d) half

is the most common non-farm activity in many families of Palampur.
a) Shop-keeping
b) Manufacturing
c) Fishing
d) Dairy

. How far is Raiganj from Palampur?
a) 4 kms
b) 3 kms
c) 2kms
d) 1kms



SUBJECT: GEOGRAPHY

1. Which is not a union territory of India?
a) Delhi
b) Chandigarh
c) Lakshadweep
d) West Bengal

2. Which is the place lying on the three seas?
a) Kashmir
b) Sikkim
c) Kanyakumari
d) Chandigarh

3. Name the water body separating Sri Lanka from India?
a) Palk Strait
b) Gulf of Kutch
c) Cape of Good Hope
d) Gulf of Khambhat

4. Mountain ranges in the eastern part of India forming its boundary with Myanmar
are collectively called?
a) Himachal
b) Uttarakhand
¢) Purvanchal
d) Kannad

5. Which continent was a part of the Angaraland?
a) South America
b) Africa
c) Eurasia
d) Australia
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